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Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.

Answer any seven out of ten.

What is OS? What is the need of OS?
Define: process, scheduler
Differentiate process and program
Define: hole, page

Write full form : TLB, IPT,FIFO,LRU
List out file attributes.

Explain grep command.

Differentiate absolute file path and relative file path
Explain chmod command.

Define: kernel, shell

Explain batch OS.

OR
Explain multiprogramming OS.
Explain time sharing OS.

OR
Explain real time OS.
Explain OS services.

OR
Write short note: Linux OS.
Explain process life cycle.

OR

Explain process control block.

Explain cpu-bound process and i/0-bound process with example.
OR

Explain preemptive and non-preemptive scheduling with example.

Explain scheduling queues with diagram.

OR
Differentiate long term scheduler and short term scheduler.
Write short note: context switch

OR
Explain FCFS with example.
Explain SRTN with example.

OR
Write short note: deadlock

Differentiate logical address and physical address.
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OR
What is segmentation? Write advantages and disadvantages of it.
What is paging? Explain TLB.
OR
Explain fragmentation.
Explain virtual memory in detail.

List out disk space allocation methods. Explain any one.

Explain directory structure in brief.

Write a shell script to read three integer values from user and find the
maximum value among them.

Write a shell script to concatenate two strings and find length of resultant
string.
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oAl
gaHiel sluRl Ulctoll sallol AL,
0s AeA 9j? 0S ol 33l g B?
cyluel AU YIRAY, 2AlsyeR
WA A YLoUH Rt dsleld Al
UL AL 8, Vo
yel oltad W TLB, IPT, FIFO, LRU
518t Wloe ofl aAlEl wotldl.
Grep $HloS Gele0L UL AHestAl.

AUARJe S8 W wa ALl S8 U sl dslclcd Aul.

Chmod $HleS GELERQL WU AH Al
WAL WU $elA, AA

AU OS dHsLal.

wal
Ul Yool 0S A Al
2leH AL 0S UMl

wal
Jad 2leH 0S AHAl.
0S ARl umestall.

wal
gsoll cull: dlotel 0s.
YA A S UBSEH AHt .

wal

YA 52l 6cAlls AHAl.

CPU bound YR W 1/0 bound WAU Gele0L AU Hestall.
uAdl
Pre-emptive scheduling 4ol non pre-emptive scheduling GELSQL wdl
UMl
Scheduling queues g(A UGl UM
uAdl
Long term scheduler el short term scheduler cl2Asll d$lalcd AL,
gsolll Awl: context switch.
AUl
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FCFS Gele0l wdl amestdl.
SRTN Gels0l Ul yHesal.

wacll
gsolll AWl: deadlock

Logical address ol physical address cl2all dglalct AWl
AL
Segmentation 2@ J? Aol $IRAEL WA IR SLAEL AW,
Qoflot Aed 9j? TLB uMestal.
a2l
Fragmentation A -stcll.
Virtual memory (QclR yds Axesal.

Slas AU WAAZ At RSl 2]l ctotlcl. AHte(l 518 L As
TRILAEN

2523 @sAR gsHl AL

YA WA 23l BotlwR Ay Ancll Autoll HedH Ay ual MR
ol At Bl cul.

ol [oLal 1S wal el elte HACL 2oL ofl clous ual He ol
Ad Wl Al
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